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nr 3PS KOR 7991 K9 — It was not necessary to mention N¥n03,
only to include a nook

Overview

11 ' says that the word "n*%1n10m", that is mentioned in the Xn»92 comes to
include (that) a 07 77p (is a n°%172). MOOIN question is; why does not M '
say instead that it comes to include 2"77 77X,

Concerning 1"77 >7¢ we already learnt (8,1 77) that there is a NP1 between
the 73127 who maintain that it is n°2»955 and 7198 °27 who maintains 2"772
MnT.

Concerning s'X"1 view there is seemingly a np1>n» what he holds by "7 >7x
"DIDMT RIRT RI°7; XDH 27 maintains 17 7"770 and X"77 7°92 R maintains
"7 NN,

2% spa 8% — 137 " did not want to say

293977 Mwn 735 TuINT — that it was necessary to mention N°91727 in
order to inform us that '2"17 972 is also a N7

AT 29277 MIRND TYIR 9297 2wn — because according to YTX ,MIYIPN 929
9''179, have the status of a 2''/19, and not of a o173

"519°7 372 N°R 9°BXY — and even when there are stakes’ by the X" ,2"77 78
still maintains’ that it is a 7", therefore 7am " does not want to say that the Xn»92
includes "1 *7% as a n°910), because we like to maintain the Xn»93, like everyone
including X"".

This approach seems to indicate that 711 "™ sides with 27 X995, who maintains that
according to*19°17 XRT 12°9K) °n7 7"7772 1" °78 X", however there is the opinion of 29
XX 277 772 XX, who seemingly maintains on X,1 77 that X"7 differentiates in 7"77 >7%
whether there are no *o19°1, then it is a 7"717, or whether there are *»19°11, then it is a n%n73,
even according to X"7; so why did not 7371° "1 interpret the Xn°>72 that it comes to include
*D191 XI'KRT X277 7"77 >78, where according to X7 ;7772 X" it is a ¥™3% oo,

mooIN answers:

7% RpPDOR KRBW IR — or perhaps we can say that 117 ", who is making this

statement, iS uncertain

"Instead of including a n™i 17p, where we have no precedent that it is a "7, as opposed to 1"77 7%,
where we know that the X"97 7127 consider it a N7,

* Therefore we cannot even say that the Xn»12 wishes to include *5°1 7°2 n°X7 X2’ 7"711 *78, because even
there, there is an opinion that it is "7 2";772.

3 See x> 11"7 X,1'01n where M0N0 maintains that according to 8" ,%95 27 holds »7 7"7172 71"'77 °7%, even
when there are *219°m.
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XY 2K TYOIN 927 179 772 X — whether or not X' agrees® to the 1121 in a case
where *219°1 X2°X, that it is a n°9n", therefore he chose not to mention it, not to get
involved in something he was not sure of.

Summary
1M1 ' either agrees with 899 21 that according to X1 °n7 7"7772 7"77 78 X"

IO RIRT XD, or he 1s unsure what is the view of X'"1 in this case.
Therefore he chose not to discuss it.

Thinking it over
1. According to 71¥°%X °27 what is the status of a 2"717% 12107 N1 1P?

2. Why does mp01n give two answers, instead if one?

* We may say that he is uncertain whether X9 27 or X"17 7712 X" is correct. Alternatively we may say that
he is even uncertain if X"97 7°72 X", said his statement in a definitive manner, or he was merely
questioning the assumption of X959 27.

See 012K 19, that 13m° ' seemingly cannot hold with certainty that everyone maintains 1"713 182 2"77 7%
919717 XIKT K21 17, because 13 "M on X,1 77 forgoes the option of saying "Xini *Xi1d 170WKR" in the case of
7"711 >7%, he chooses rather the case of yon 7v2vnn, and it may be for this reason because 7% Xpoon 5"1757
P



